
!= af/f 

If]q g+= ! 

1  l;d|f}gu9 g=kf= k|d'v ljhoz+s/ ofbj 

pkk|d'v l/tfs'df/L b]jL 

2  kr/f}6f g=kf= k|d'v lszf]/Lk|;fb ofbj 

pkk|d'v /+h'b]jL rf}/l;of 

3  cfbz{ sf]tjfn uf=kf= cWoIf hjfx/k|;fb ;fx sfg' 

pkfWoIf ldgfb]jL ofbj 

If]q g+= @ 

1 sn}of p=d=g=kf= k|d'v – 

pkk|d'v /lxdf vft'g 

2 dxfu9LdfO{ g=kf= k|d'v pk]Gb|k|;fb ofbj clx/ 

pkk|d'v tf/fb]jL sfg'  

3 b]jtfn uf=kf= cWoIf xl/nfn /fo ofbj -jRr' jfjf_ 

pkfWoIf nfnd'gL b]jL 

4 ;'j0f{ uf=kf= cWoIf /fh]zk|;fb ofbj 

pkfWoIf /fdtLb]jL ofbj 

If]q g+= # 

1  km]6f uf=kf= cWoIf ?;td c+;f/L 

pkfWoIf rGbfb]jL kf08] pkfWofo 

2 lj>fdk'/ uf=kf= cWoIf lszf]/L ;fx t'/fxf 

pkfWoIf cr{gf b]jL 

If]q g+= $ 

1  hLtk'/ l;d/f 

p=d=g=kf= 

k|d'v – 

pkk|d'v – 

2 k/jfgLk'/ uf=kf cWoIf – 

pkfWoIf ljGbfb]jL d08n 

3 k|;f}gL uf=kf= cWoIf – 

pkfWoIf OGb' b]jL ;fx 

If]q g+= % 

1  sf]NxjL g=kf= k|d'v d'/nLw/k|;fb rf}w/L 

pkk|d'v z'eb|f lwdfn 

  2 s/}ofdfO{ uf=kf= cWoIf e'jg]Zj/ wfdL 

pkfWoIf lrq/]vf rf}w/L 

3 af/fu9L uf=kf= cWoIf b]jbQ a5f? yf? 

pkfWoIf rGb|fjtL rf}w/L  

If]q g+= ^ 

1  lghu9 g=kf= k|d'v – 

pkk|d'v – 

 

 

 

@= wg'iff  



If]q g+= ! 

1  zxLbgu/ g=kf= k|d'v – 

pkk|d'v ;'lgtf s'df/L l;+x  

2  sdnf  g=kf= k|d'v ljz]Zj/ ofbj 

pkk|d'v lznf b]jL d08n 

3 hgsgGbLgL uf=kf= cWoIf – 

pkfWoIf ef/tL sfsL{ 

 If]q g+= @ 

1  ljb]x g=kf= k|d'v k|]drGb| emf 

pkk|d'v ?jL b]jL d08n 

2  x+;'k'/ g=kf=  k|d'v – 

pkk|d'v – 

3 cf}/xL uf=kf= cWoIf a|xDb]j ofbj 

pkfWoIf ld/f b]aL ;xgL 

If]q g+= # 

1 gu/fO{g g=kf= k|d'v k/d]Zj/ ofba 

pkk|d'v /Gh's'df/L ;fx 

2 d'lvofkl§ d';x/lgof uf=kf= cWoIf /fd afa' ofbj 

pkfWoIf – 

3 wgf}hL uf=kf=  cWoIf ab|Lgf/fo0f l;+x 

pkfWoIf /fdjtL d08n 

If]q g+= $ 

1 hgsk'/ p=d=g=kf= k|d'v dgf]hs'df/ ;fx 

pkk|d'v lgnds'df/L s0f{ 

 

If]q g+= % 

1  ldlynf ljxf/L g=kf= k|d'v – 

pkk|d'v nlntf ;fx 

2 nIdLlgof uf=kf= cWoIf s'df/ sfGt emf 

pkfWoIf /fd/fhL ofbj 

3  lIf/]Zj/gfy g=kf= k|d'v of]u]Gb| k+lhof/ 

pkk|d'v /rgf dfy]df  

If]q g+= ^ 

1 wg'iffwfd g=kf=  k|d'v afn]Zj/ d08n 

pkk|d'v laBf b]jL e'h]n 

2 ;a}nf g=kf=  k|d'v – 

pkk|d'v alatf b]jL ofbj 

3 u0f]zdfg rf/gfy g=kf= k|d'v – 

pkk|d'v t'N;f kf08] k§]n 

 

If]q g+= & 

1 ldlynf g=kf= k|d'v – 

pkk|d'v –  

2 a6]Zj/ uf=kf=  cWoIf /fd cflzif dxtf] 

pkfWoIf hgf/zL b]jL ofbj 

 

  



 

#= dxf]Q/L 

If]q g+= ! 

1  jlb{jf; g=kf= k|d'v k|xnfb If]qL 

pkk|d'v tf/fb]jL dxtf] 

2 eFufxf g=kf= 

 

cWoIf – 

pkfWoIf zflGtb]jL l;+x 

If]q g+= @ 

1  nf]x/kl§ g=kf= cWoIf – 

pkfWoIf – 

2 anjf g=kf= cWoIf – 

pkfWoIf – 

If]q g+= # 

1  hn]Zj/ g=kf= k|d'v czf]s s'df/ ;fx 

pkk|d'v clgtf b]jL zdf{ 

2 dl6xfgL g=kf= k|d'v hos'df/ rf}w/L 

pkk|d'v h'd}bf vft'g 

3 lkk/f uf=kf= cWoIf /fwf/d0f ld> 

pkfWoIf /fdjtLb]jL ofbj  

 

If]q g+= $ 

1 dg/f g=kf= k|d'v lszf]/ s'df/ l;+x -lk|td_ 

pkk|d'v cfzfb]jL l;+x 

2 dxf]Q/L uf=kf= cWoIf ;'zLn emf 

pkfWoIf Zofdfb]jL kf;jfg 

3 Ps8f/f uf=kf= cWoIf dgf]hs'df/ emf 

pkfWoIf hfgsL b]jL 

If]q g+= % 

1 /fduf]kfnk'/ g=kf= k|d'v /fhf/fd ofbj 

pkk|d'v k':kfb]jL s'zjxf 

2 ;fD;L uf=kf= cWoIf /+lsa z]if 

pkfWoIf – 

3 ;f]gdf uf=kf= cWoIf gjnlszf]/ /fo 

pkfWoIf pld{nf b]jL /fpt 

If]q g+= ^ 

1 uf}zfnf g=kf= k|d'v dg'k|;fb clwsf/L 

pkk|d'v ;'zLnf b]jL s'zjfx 

2 cf}/xL g=kf= k|d'v ;'gLns'df/ ofbj 

pkk|d'v /]0f'sf s'df/L ofbj 

 

 

 

$= k;f{ 



If]q g+= ! 
1  jL/u~h d=g=kf= k|d'v chos'df/ låj]bL 

pkk|d'v – 

 
If]q g+= # 

1  ax'b/dfO{ g=kf= k|d'v lht]Gb| ;fx t]nL  

pkk|d'v – 

2 k;f{u9L g=kf= k|d'v nf]sgf/fo0f ofbj 

pkk|d'v klrofb]jL y?gL 

3 ljGbjfl;gL uf=kf= cWoIf rGb|lszf]/ k|;fb j/O{ 

pkfWoIf ls/0f b]jL u'Ktf 

 
If]q g+= $ 

1  kf]v/Lof g=kf= k|d'v /fd]Zj/k|;fb /f}lgof/ 

pkk|d'v /]xfgf vft'g 

2  ksxfd}gk'/ uf=kf= cWoIf xl/ rf}xfg 

pkfWoIf s'df/L cGgk"0f{ clwsf/L 

3  ;v'jf k|;f}{gL uf=kf= cWoIf ;flj/ x';]g 

pkfWoIf k'ikf rf}w/L 

4  k6]{jf ;'uf}nL uf=kf= cWoIf lbg]zs'df/ rf}w/L 

pkfWoIf ddtf dxtf] 

5  sflnsfdfO uf=kf= cWoIf /fh]Gb|s'df/ s'dL{ 

pkfWoIf – 

 

 

If]q g+= % 

1  7f]/L  uf=kf= cWoIf h/Lnfn lyË nfdf 

pkfWoIf lutfb]jL lji6 

2  hu/gfyk'/ uf=kf= cWoIf >LsfGt k|;fb ofbj 

pkfWoIf d}d'n g]zf 

3  wf]ljgL uf=kf= cWoIf ;'/]zk|;fb s'dL{ 

pkfWoIf dGh' b]jL 

4  l5kx/dfO{ uf=kf= cWoIf /fd]Zj/ dxtf] s]j6 

pkfWoIf z}nb]jL /fhk't 

5  lh/f ejfgL uf=kf= cWoIf dxfb]j k|;fb dxtf] 

pkfWoIf – 

 

 

 

 

 

 

 

 

 

%= /f}tx6 

 

If]q g+= ! 

1  uf}/ g=kf= k|d'v – 



pkk|d'v – 

2  /fhb]jL g=kf=  k|d'v lw/]Gb|s'df/ l;+x 

pkk|d'v – 

3  b'uf{ eujtL uf=kf= k|d'v c?0f ;fx 

pkk|d'v x]df emf 

4  od'gfdfO{ uf=kf=  k|d'v >L/fd /fo ofbj 

pkk|d'v – 

If]q g+= @ 

1  O:gfy g=kf=  k|d'v sf}lzNof b]jL 

pkk|d'v z]ifsnfd x';}g 

2  k/f]xf g=kf=  k|d'v z]if jlsn 

pkk|d'v ;'uGwL lu/L 

3  /fhk'/ g=kf=  k|d'v df]= ;lsn cVt/ 

pkk|d'v hlkm/f vft'g 

If]q g+= # 

1  b]jfxL uf]gfO{ g=kf=  k|d'v – 

pkk|d'v  – 

2  jf}lwdfO{ g=kf=  k|d'v gjn lszf]/ ;fx 

pkk|d'v ls/0fs'df/L k§]n 

3  df}nfk'/ g=kf=  k|d'v – 

pkk|d'v – 

 

If]q g+= $ 

1  u?8f g=kf= k|d'v ;'lgns'df/ ofbj 

pkk|d'v /+uLnfs'df/L ho;jfn 

2  dfwj gf/fo0f g=kf=  k|d'v z+s/ ofbj 

pkk|d'v – 

3  u9LdfO{ g=kf=  k|d'v Zofdk|;fb ofbj 

pkk|d'v – 

 

If]q g+= % 

1  u'h/f g=kf=  k|d'v z]if bfpFb 

pkk|d'v /Tgf nfdf 

2  s6xl/of g=kf=  k|d'v cho k|sfz 

pkk|d'v k|ldnf s'zjfx 

3  kmt'jf ljhok'/ g=kf k|d'v uf]kfnk|;fb ofbj 

pkk|d'v – 

 

If]q g+= ^ 

1  rGbk'/ g=kf= k|d'v – 

pkk|d'v – 

2  j[Gbfjg g=kf=  k|d'v /fd:g]xL /fo ofbj 

pkk|d'v g'/ hfxfg 

 

^= ;Kt/L 

 

lgjf{rg If]q g+= ! 

1  s+rg?k g=kf=  k|d'v – 

pkk|d'v lg? kf]v/]n 

2  s[i0ff;j/g uf=kf= cWoIf k/z'/fd rf}w/L 



pkfWoIf ldgf rf}w/L 

3  ;Ktsf]zL uf=kf= cWoIf s[i0fk|;fb 9sfn 

pkfWoIf l/tf s'df/L rf}w/L 

lgjf{rg If]q g+= @ 

1 xg'dfggu/ sª\sflngL g=kf= k|d'v ;/f]h lj/fhL 

pkk|d'v /fh>L b]jL ofbj 

2 dxfb]jf uf=kf= cWoIf uh]Gb| d08n 

pkfWoIf ;+lutfs'df/L ofbj 

3 lt?x't uf=kf= cWoIf b]jgf/fo0f uf]Ot 

pkfWoIf lutfb]jL ofbj 

 lgjf{rg If]q g+= # 

1 /fhlj/fh g=kf= k|d'v w|'j b]j 

pkk|d'v ;'zLnfs'df/L ofbj 

2 ltnf7L sf]Onf8L uf=kf= cWoIf c?0fs'df/ d08n 

pkfWoIf c8x''nb]jL d08n 

3 lji0f'k'/ uf=kf= cWoIf lgnfDj/ ofbj 

pkfWoIf hGhL/fs'df/L ofbj 

 

lgjf{rg If]q g+= $ 

1 8fSg]Zj/L g=kf= k|d'v gf/fo0f ofbj 

pkk|d'v ;lvgf vft'g 

2 j]nxLrk]gf uf=kf= cWoIf k/dfgGb ofbj 

pkfWoIf k'ikdfnf s'df/L 

3 l5Ggd:tf uf=kf= cWoIf s'nfgGb ofbj 

pkfWoIf ;lxbf vft'g 

lgjf{rg If]q g+= % 

1 v8\s g=kf= k|d'v – 

pkk|d'v – 

2 zDe'gfy g=kf= k|d'v – 

pkk|d'v – 

3 ;'?Ëf g=kf= k|d'v – 

pkk|d'v ;':df rf}w/L 

4 ?kgL uf=kf= cWoIf /fdgf/fo0f O;/ 

pkfWoIf ef]n]Zj/L rf}w/L 

lgjf{rg If]q g+= ^ 

1 jf]b]j/;fOg g=kf= k|d'v s/d}t ofbj 

pkk|d'v pld{nfb]jL ;fx 

2 jnfg–ljx'g uf=kf= cWoIf lht]Gb|s'df/ ofbj 

pkfWoIf clgtf b]jL ;fx 

 

&= ;nf{xL 

If]q g+= !  

1  O{Zj/k'/ g=kf= k|d'v k|df]b a/fn 

pkk|d'v clgtf rf}w/L 

2  nfnjGbL g=kf= k|d'v – 

pkk|d'v – 

If]q g+= @ 



1  xl/k'/ g=kf= k|d'v pbogf/fo0f rf}w/L 

pkk|d'v kfgf] b]jL ;fx 

2  xl/jg g=kf= k|d'v – 

pkk|d'v – 

3  sljnf;L g=kf= k|d'v /fhs'df/ zfx 

pkk|d'v /fhsnLb]jL 

If]q g+= # 

1  j/xyjf g=kf= k|d'v lg/+hgk|;fb bf; 

pkk|d'v ozf]wf rfln;] 

2  afudtL g=kf= k|d'v s[i0f/fh /fodfemL 

pkk|d'v zflGtb]jL dxtf] 

3  a;jl/of uf=kf= cWoIf /fd cof]Wof ofbj 

pkfWoIf /fdb'nf/L b]jL 

If]q g+= $ 

1  dn+ujf g=kf= k|d'v lg/;n ;fx 

pkk|d'v zflGt eGg] zjgd lds/fgL 

2  xl/k"jf{ g=kf=  k|d'v l;of/fd /fo 

pkk|d'v rGb|snf b]jL 

3  rGb|gu/ uf=kf= cWoIf Zofdk|;fb l;+x 

pkfWoIf  zflGtb]jL ;fx 

4  a|Xdfk'/L uf=kf= cWoIf cd[t ;fx 

pkfWoIf /fdem/L b]jL 

5  k;f{ uf=kf= cWoIf /fd;]js /fo 

pkfWoIf t]t/L b]jL 

If]q g+= % 

1  uf]8}6f g=kf= k|d'v pk]Gb|k|;fb s'zjfx 

pkk|d'v cfzfb]jL kf;jfg 

2  rqm3§f uf=kf= cWoIf /fdhL ;fx 

pkfWoIf lgnd clwsf/L 

3  lji0f' uf=kf= cWoIf /fh]Gb| /fo ofbj 

pkfWoIf lkcl/of b]jL 

4  sf}8]gf uf=kf= cWoIf ?k]zs'df/ 

pkfWoIf OGb|snf b]jL 

If]q g+= ^ 

1  an/f g=kf= k|d'v sdn]Zj/k|;fb l;Gxf 

pkk|d'v clgtf b]jL 

2  wgsf}n uf=kf= cWoIf /fdcf>] ;fx 

pkfWoIf csnLb]jL ;xgL 

3  /fdgu/ uf=kf= cWoIf s[i0fk|;fb adf{ 

pkfWoIf ldgfs'df/L k08Lt 

 

*= l;/xf  

If]q g+= ! 
1  nxfg g=kf=  k|d'v – 

pkk|d'v k'gd rf}w/L 

If]q g+= @ 

1 nIdLk'/ ktf/L uf=kf= 

 

cWoIf rt'/fgGb 7fs'/ 

pkfWoIf cd/snf ofbj 

2 eujfgk'/ uf=kf= cWoIf ld/f b]jL ofbj 

pkfWoIf s[i0fs'df/ ofbj 



3 al/of/k§L uf=kf= cWoIf –  

pkfWoIf –  

4 gj/fhk'/ uf=kf= cWoIf ljZjdf]xg ofbj 

pkfWoIf zf]efs'df/L ofbj  

5 ;v'jfgfGsf/s§L uf=kf= cWoIf afns[i0f ofbj 

pkfWoIf ;'g}gfb]jL ofbj 

If]q g+= # 

1 l;/xf g=kf= k|d'v 8f= z'efifrGb| ofbj 

pkk|d'v Zofdfb]jL u'Ktf sdnfk'/L 

2 cf}/xL uf=kf= cWoIf – 

pkfWoIf – 

 

 

If]q g+= $ 

1  wgu9LdfO{ g=kf= k|d'v k+rnfn dxtf] 

pkk|d'v – 

2 ;'vLk'/ uf=kf= cWoIf /fds'df/ ofbj -jfjf_ 

pkfWoIf ;'eb|f b]jL rf}w/L -;'8L_ 

3 cg{df uf=kf= 

 

cWoIf /fdclwg ofbj 

pkfWoIf zf]ef s'df/L kfn  

If]q g+= % 

1 uf]nahf/ g=kf= k|d'v – 

pkk|d'v – 

2 ldr}{ofF g=kf=  k|d'v – 

pkk|d'v – 

3 sh{Gxf g=kf= cWoIf – 

pkfWoIf – 

 If]q g+= ^ 
1  sNof0fk'/ g=kf= k|d'v ;'o{gfy d08n 

pkk|d'v /f]xgL s'df/L ofbj 

2  lji0f'k'/ uf=kf= cWoIf /fdrGb| ofbj 

pkfWoIf ;l/tf b]jL dxtf] 

3  g/xf uf=kf= cWoIf sf}zn d08n 

pkfWoIf lutfb]jL ofbj 

 


